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L. T - F

If a car at rést accelerates uniformly to a spéed of 144 km/h in 20 sec.,
Hobd much distance it will cover in this period ?

The graph shows the variation of velocity of a rocket with time. Then,
the maximum height attained by thc rockct i8

o

1000 ' -------
| /
| /
/o

|/ ? Y
K i \ l-'-(i’(('.)
0 10 110N

Derive the second equation of motion numerically (s= ut = 2 at?)

A student weighs 30 kg. Sﬁpposc his body is entirely made up of
electrons. How many electrons are there in his/hér body. (Mass of an

electron is 9.1 x 1031 Kg)

SECTION D
Long Answer (SM x 2)

A truck starts from rest and roll down a hill with a constant acceleration.
It covers a distance of 400m in 20 <. Find the force acting on it if its mass

is 7000Kg

A stone is thrown vertically upwards against earth’s gravity with velocity
of 40 m/s. What is the total distance travelled by the stone if it is caught
back at the same point of projection?

SECTION E

Take two eggs, a raw egg and a hardboiled egg. Try to spin both the eggs
with the same force on the same surface. Which one will spin for more

time? You can see that the hardboiled egg spins for more time than the
raw egg. What made the boiled egg spin for more time? Can you explain?
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